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Toafter allowing a discount of

10%, by what per cent cost price should
be hiked in the list price?

fFdl avq W aed qew d v %
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a) 9% b) 11%
c) 18% 20%
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The cost of manufacture of a tape recorder is
MThe manufacturer fixes the marked
price 20% above the cost of manufacture and

allows a discount in such a way as to get a
- rofit of 8%.\The rate of discount is
Tdh ¢4 ISt & IcUiged I oeld 1500%
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a)12 b) 8 c) 20 ‘10
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The marked price of an article is 40% more
than the cost price and a discount of 14%%

is given on the market price. In thisﬁind of
sale the seller gains: ’

UF aF] P RS Hed, dnrd :H—zr q
40% ¥HRF ¥ I d@R :n—zr W

1429 aﬁrq?awé%lsvwa?r

ﬁ RQ&dar +1 fFaaT B1Ier 21T 82
a) 632 % (b))20%
c)25% d)28§%
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Despite giving a discount of 11.11% on the
-]
mark-up price, profit obtained/llsqequal to
_'.",— 6.66%. What is the % markup over CP?
1> 5ifea a7 W 11.11% ©e & &
9IGSIG 6.66% T AT UITd gl 3| AT
T TE] T Aed, 9 Aed ¥ fhaad %
e 3rfra fram s
a) 14.28% b) 28.56%
(€)20% d) 25%
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The mark-up %,discount%and profit % are
in the ratio 16:5: 7. If article is marked at
16x,5%, 7% .

288 Rs. I-Ighér than CP, then find the
amount of discount given (in Rs).
ASHT 9%, dqeerT % A amwr %
16:5:7 ¥ Hquid # g, AfFa A= P
¥ Rs. 288 3fOw g, @t & 715 g A
ufdr (% ) B

a)216  b)189 144 (d)162
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An article is marked x% above the cost

. . 2 .
price. A discount of 3 x% is given on the

marked price. If the profit is 4% of the cost
price and the value of x lies between
25 and 50, then the value of 50% of x is?

U qFd AET Hed ¥ x% IHAF fha
A el ) 3T AET WS A% A g
& Srelt ] A AT AR Hew & 4%

g 3R x F1 AW 25 IR 50 F AT §,
ar x & 50% T AT g7

a) 20 b) 40 c) 30 15
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A trader wishes to_gain_20% after allowing

[40 10% discount on the marked price to his

’\/”7 20 customers. At what % higher than the cost
26 @ price must he mark his goods?

C,P n TH SAUR) YA AEH F T q{eT W

20 O%a?rmaﬁa:mm%wm

W%Imﬂ—q#ﬁmﬁ%mw
3T YA ATT Y IThd HET AR

a) 30% (B)B33%

) 34%% d) 35%




On allowing a discount of 10% on an article, the
shopkeeper gains 20%. If a discount of 20% is

MF 4%@-—\ allowed on it. What will be the gain %?
UF qF] W 10% # T aqA W, HEIGR
Cp /0-2 HY 200% F1 a7 gl & IR IH W 20%
$ g 4 AT T ATHY FAT B
’ @63 % b)71%
-+
X _¢ ., ) 125% d) 133 %
35
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A salesman gets 20% profit even after
allowing 10% discount. What is the
maximum percentage discount that he can
offer without getting loss?

10% B A & WMol UF AHal HI
20% HT ST gaT 8| a8 fOwan
fraer wfawra # g & wFar § aifs
39 gifar & g2

a) 20% 5%
¢)30% d)33.33%




If a seller gives a discount of 15% on retail

60 price, she still makes a profit of 2%. Which

M f? M 5 %1 of the following ensures that she makes a
= Sgroflt of 28%3?) 0%

cp —8—?50 45 Ife IS fashel Tal Aed W 15% HT

o &1 &, st g 2% ST e HAE
8 frafef@a & ¥ #la 7% ghfea
FIaT & B T8 20% FT ATH FATC?

)@) Give a discount of 5% on retail price

Ab) Give a discount of 2% on retail price

% Increase the retail price by 2%
\,d/s.'ell at retail price

| CAT 2017 | 11
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By giving a discount of 30%, a trader

made a profit of 20%. If the trader had

given a discount of Rs 400 he would

have incurred a loss of 20%. Find the
AR AN

marked price of the article.

30% # TT qF, T NN A

20% T T FAI| 3R AT

F 400 ¥ A v § <N

20 % T mm gidT]

Rffea Fea wa_hfom| dgq,

a) 600 (b)750

c) 900 d) 800
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A shopkeepers allows 16% discount on
every item. Even after giving the discount,
he makes a profit of 8%. If he gives 8%
discount inst of 16% on an item
marked for@ then what will be his
profit percent? (correct to 2 decimal
places)

HIE Y% a8 W 16% TT
& §| o & & 9@ A, 3@ 8y W
mﬁ?ﬁ%lﬁmsooaaﬁrcrﬂ—zr
arell aFg W 16% F I9F, 8% i
ge A1 ¢, @ 3w gfdud wmr
(EUHST F a1 T aF TE) AT FY
a) 18 b) 19

\sA 18.29 d) 18.31
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[\ZVhen an article is sold at 37% discount a

MP % /3 shopkeeper suffers 9% Iosg But when it is

= sold at 28% discount, he gets Rs.7072 more

Cp /égq than what he got on previous deal. At what
Syy price should he sell to get no profit no loss?

- Jo72 o9 frdl &g F 37% T W =T SATAT
%w Ooﬂ/%?ﬂwmaﬂ9%aﬁraﬁraﬁ

AXE Y afew 9w = 28% # ve W awm
Sar g af 3@ Rod @i i oader
7072 X I30F Aad & 99 FX T
] B 5 Aog W AR afF 3@ T

anr g AR & & g
() Rs.54400 b) Rs.52400
¢) Rs.48600 d) Rs.58640

R 14



Ecompany allows 15% discount and gets
MP ”C] 5 19%profit.| If the cost of the product is
= _:-3_7_)0"‘675 increased by 12% then the MP is increased
Cp 85 /f'éﬁ /55. b; 10% and company still gives
=16 97915% discount, then find the

V7 K aw;fr15%a§ar%\#a7qﬁrrasﬁ19%
SP_ HIXIXA F1 a1 HAC ¥ AR FT qEw F 12%
cp —8—‘3>(-I]-l%x|7>(771) I gefdr g S aYT MP &I 10% el
S fam S at Suelt 9 ot 15% @1 FEa

gt &, ar ST AT % AT B

= \_gl§+27 a) 16.275% b) 16.5%
60 ¢) 16.625% \/16.875%

| GP | 15



Ui an article is sold at 4x% discount then

p 6 25 there is a loss of ZO(VE,and&F at x% discount

M = ge - _’%5— then there is a profit of 25%‘. Find the value
-

CP loo-Yyz  100-% of x.

IfE wF I 4x% F G W A= S 7

= 600 -16%=25dD- |dDx. a & 20% H gy & fa=dr & aur Ify
-15 Faer x% H g & A §, a 25% F
%‘--ﬂ-ﬁ-zqg T 9T fAwd) §, x FT AT AT R

4 7 .71 b)11.33 ) 14.85 d)9.87
L 21057 Tluo
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